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S.E. (LT.) (I Sem.) EXAMINATION, 2010

FUNDAMENTAL OF DATA STRUCTURES

(2008 COURSE)
- Maximum Marks : 100

N.B. :— (i) Answers to the two Sections should be written in separate

answer books.

(i) From Section I answer Q. No. 1 or Q. No. 2, Q. No. 38 or
Q. No. 4, Q. No. 5 or Q. No. 6 and answer Q. No. 7 or Q.
No. 8, Q. No. 9 or Q. No. 10, Q. No. 11 or Q. No. 12 from
Section II.

(iit) Neat diagrams must be drawn wherever necessary.

(iv) Figures to the right indicate full marks.
SECTION I

. 59 (@) Select the choice for the correct answer and write that

¢hoice :

(i)  int x=20, y=35;
‘ X = 44y + Y + y++;
printf("%d", X);

The above code snippet will print :

(1)
(2)
(3)
(4)

109
108
106
107

2x4
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Gi) intx = 3
int Y
y=x4
’ printf("%d"; ¥);

The above code snippet will print :

1 27
@ 1
@ 0.

(4) ,NOI.lé"Of the above
(iii) #include<stdio.h>
#define sqﬁare(x) x"x
o ol Y
. .{ ‘
int y; .
'y =.}'3‘0/square(4);
pr"intf("%dl\n", );

J
The above code snippet will print :
e
(2) 156
3 8
.
(3762]-232 | 5




1762]-232

(iv)

int reverse(int nx)
{

iftnx == 0)
refurn 0;

else
printﬂ"%d", nx);
nx--; |
reverse(nx)‘; ‘

;

main( )

{

int x=5;

reverse(x);

&

The above code snippet will print :
1y 54891
(2) 12345

3 543210

(4) Program runs in an infinite 'loop.

3

P.TO.




'

(b) What is Union in C 7 [2]

(¢) What is structure in C ? [2]>
(d) Tlustrate the difference between Union and Structure with suitable’
examples. ‘ [6]

Or

2. (@) Select the choice for the correct answer and write that
choice : : 2x4

() - printf("%d", 4%3);
printf{("%d", 4%-3);
printf("%d", -4%3);
printf"%d", -4%-3);

The above code snippet will print :

g 1111
(2.1 -1-1-1.
B 11-1-1
(4) | 1-1-11

(i) int a=30, b=40, x;
x=(a != 10) && (b = 50);
printf("%d", x); | -
The above code snippet will print :
(1 -1 |
@ 0
(3) Compile Error

(@ None of the above
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(iip) #include<stdio.h>

#define a 10

‘main( )

{

int a=50;

printf("%d\n", a);

2

The above code snippet will print :
Gof ol '

(2) 60

@) Compile error
@ None of the above
(iv) int main(void)
{
int x=1;
if(!x) .
printf{"Hello\n");
else
{
x=0;
printf("Bye\n");
\ |
- return 0;
}
The above code snippet will print :
(1) Bye
(2) Hello
(3) Hello (infinitely ....)
(4) Bye (infinitely ....)
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Declare Employee structure with fields as id, name and salary

for 10 employees and write C code to accept and display the

(b)
(¢)
8, a8
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employee information. = [6]

‘Explain uée of “break” and “continue” keywords in “C” with suitable

example. . : 4]
Write the output for the following ‘code : 4x2
) ik srrapl ] = 145, B7, 895
| int *array_ptr = array;
~ printf("first element :%d\n", *(array_ptrH));
printf(“second element :%d\n", *(array;ptr++)).;
printf("third element :%d\n", f"array_ptr);
Gi) int i, j(21=(0%
int *p, *a;
p = &
q = &jl0l;
*p=3;
*++(q)=1;
printf("%d%d%d"; i, jlol, 31D

6




(e)

What wij be the output of the code sp
void f1(int

ippet below
*px)

{
int n=100,
Px=&n;

]

}

int main(voiq)
{

int *¢.

f1(x);

printf{ "%d", *x);

}
(L -0

(2) Error

(3) Garbage value

(4) None of the above
’62]-232
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oD
4. (a) Write the ‘ output for the following‘code -  2><4
. (1) int t[3][2] [4]=(2,4,3,6,1,6,7,9,8,2,1,1,2,3,7 ,3,1,6,2,4,0,7,9,5};

printf("%d", *C*(*(t+2)+1)+3)); |

(2) char *cp;
int *ip; ,
cp=(char *)0x100;
ip:(int )ep;
ip++;
cp++;
printf("cp=%x ip=%x", cp, ip);

(b) Explain pass by reference method of parameter passing with

suitable example. - (4]
(¢) What will be the correct choice of output ? } . [4]

void fl(int *px) |

{

int n=100;

px = &n;

)
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int main(void)

int >*fx;

f1(x);

pfintf("%d", Bxk

s

The abbv'e code snipplet will print :
(1).-=0

(2) Erfor

(3) Garbége value

(4) None of the above

5. (a) With respect to algorithm analysis, explain the following

terms : : ‘ ; ; [6]
(1)  Omega notation
(ii) Theta - notation

(Zi1) Big Oh notation.
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(b)

(c)

6. (a)

(b)
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Find the frequency count (F.C.) of the above codé : [6] -

Explain each step.

double IterPow(double X, int N)
{

double Result = 1;

while (N > 0)

£

Result = Result *X; )
N--;
}
return Result;
} :
Write pseudo code to find union of two sets containing integer
elements. S [4]
Or L

State different ways to classify data structures with suitable

examples. | [8]

Write a pseudo C code for addition of two sparse

matrices. : . [8]

10




7. (a)
(b)
8. (a})
(b)
«
8. (a)
(b)
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SECTION II

Sort the following and show the status after every pass using

‘selection sort : ' - [10]

34, 9, 78, 65, 12, -8
Search a given ‘number using binary search, shoW all passes.
Nurﬁber to be searched 6.
14,918 93 S4 6]
Or
Sort ;sihg quicksort the following and show. all passes : th]

34, 9, 78, 65, 12, -8

Search a given number using binary search, show all

passes : ' ‘ oy 6]
Number to be searched 23.
1,4,'9. 13, 2334

Explain the concept of row major address calculétipn for

multidimensional array with the suitable example. [6]

Explain different ways to store polynbmial in different data

structures with suitable example. v [10]
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10. (a)
(b)
11, :la)
(b)
12. .(a)

(b)
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Or

Explain the concept of column major address calculation for multi-

dimensional array with suitable example. 6]

Write a pseudo C code for finding the fast transpose of a sparse

matrix. Compare this with the normal tfanspose method. [10]
Compare Singly Linked List with Doubly Linked List. [6]

Write a pseudo C code for inserting a node at start and at end

in SLL. _ [10]
Or

Write a pseudo C code for deletion of node from DLL from first

and last position. o ' [10]

Explain the concept of Generalized Linked List with suitable

example. 0 ' % [6]
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